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Cuadro 8 (continuación 3)/Table 8 (continued 3)
Cuba: tablas abreviadas de mortalidada

 Cuba: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.023 0.022  100 000  2 212  98 082 0.976 b 7 206 707 72.1
1 4 0.001 0.004  97 788   429  390 075 0.996 c 7 108 625 72.7
5 5 0.000 0.002  97 359   238  486 199 0.997 6 718 550 69.0

10 5 0.001 0.003  97 121   262  484 948 0.996 6 232 351 64.2
15 5 0.001 0.005  96 859   522  482 989 0.994 5 747 403 59.3
20 5 0.001 0.007  96 337   691  479 956 0.993 5 264 414 54.6
25 5 0.002 0.008  95 646   720  476 429 0.992 4 784 457 50.0
30 5 0.002 0.008  94 926   801  472 627 0.991 4 308 028 45.4
35 5 0.002 0.011  94 125   991  468 147 0.987 3 835 402 40.7
40 5 0.003 0.015  93 134  1 390  462 196 0.981 3 367 255 36.2
45 5 0.005 0.022  91 744  2 052  453 592 0.972 2 905 059 31.7
50 5 0.007 0.033  89 692  2 994  440 978 0.958 2 451 467 27.3
55 5 0.010 0.050  86 699  4 346  422 628 0.936 2 010 489 23.2
60 5 0.016 0.079  82 353  6 529  395 441 0.901 1 587 860 19.3
65 5 0.026 0.120  75 824  9 123  356 311 0.853 1 192 419 15.7
70 5 0.039 0.177  66 701  11 786  304 037 0.783  836 108 12.5
75 5 0.061 0.267  54 914  14 640  237 972 0.673  532 071 9.7
80 5 0.103 0.409  40 275  16 486  160 159 0.538  294 099 7.3
85 5 0.155 0.551  23 789  13 098  86 201 0.409  133 940 5.6
90 5 0.218 0.679  10 691  7 264  35 296 0.296  47 739 4.5
95 5 0.288 0.782  3 427  2 681  10 434 0.161 d  12 443 3.6

100 ω 0.371 1.000   746   746  2 009  2 009 2.7
Mujeres/Females

0 1 0.018 0.018  100 000  1 775  98 474 0.981 b 7 546 981 75.5
1 4 0.001 0.004  98 225   429  391 784 0.996 c 7 448 507 75.8
5 5 0.000 0.002  97 795   178  488 530 0.998 7 056 723 72.2

10 5 0.000 0.002  97 617   190  487 609 0.997 6 568 192 67.3
15 5 0.001 0.004  97 427   425  486 070 0.995 6 080 584 62.4
20 5 0.001 0.005  97 001   525  483 694 0.995 5 594 514 57.7
25 5 0.001 0.005  96 476   481  481 179 0.995 5 110 820 53.0
30 5 0.001 0.006  95 995   553  478 593 0.993 4 629 641 48.2
35 5 0.002 0.008  95 442   718  475 416 0.991 4 151 048 43.5
40 5 0.002 0.011  94 724  1 067  470 953 0.986 3 675 632 38.8
45 5 0.003 0.017  93 657  1 568  464 364 0.980 3 204 680 34.2
50 5 0.005 0.024  92 089  2 231  454 866 0.970 2 740 316 29.8
55 5 0.007 0.036  89 858  3 280  441 090 0.952 2 285 450 25.4
60 5 0.012 0.060  86 578  5 176  419 950 0.925 1 844 360 21.3
65 5 0.019 0.091  81 402  7 428  388 438 0.889 1 424 410 17.5
70 5 0.028 0.133  73 974  9 875  345 180 0.831 1 035 972 14.0
75 5 0.047 0.211  64 099  13 506  286 727 0.725  690 792 10.8
80 5 0.087 0.357  50 592  18 038  207 867 0.584  404 065 8.0
85 5 0.138 0.508  32 554  16 530  121 448 0.445  196 198 6.0
90 5 0.203 0.652  16 025  10 442  54 020 0.318  74 750 4.7
95 5 0.277 0.768  5 583  4 288  17 195 0.171 d  20 730 3.7

100 ω 0.366 1.000  1 295  1 295  3 535  3 535 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


